Math 51 (7:30am — 8:20am) What month is your birthday ?

Quiz 6 What are the first 2 digits of your address ? Maisic sl

Fri May 29, 2009 What are the last 2 digits of your zip code ? T 2 i
What are the last 2 digits of your social security number ? fiRks s,

SCORE: ___ /20 POINTS [IF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,

USE YOUR STUDENT ID NUMBER]

NO CALCULATORS ALLOWED

Sn
Find the exact value of COSE. SHOW YOUR WORK. SIMPLIFY YOUR ANSWER. SCORE: ___ /3 POINTS
cos (95 + «F) = cos(G ’-’z)
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Find the exact value of c0os160° sin40° —sin160° cos40° . SCORE: ___ /2 POINTS
SHOW YOUR WORK. SIMPLIFY YOUR ANSWER.
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Write tan(45° — @) as an expression involving trigonometric functions of €. SCORE: ___ /3 POINTS
SHOW YOUR WORK. SIMPLIFY YOUR ANSWER.
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If sin 4 = —, and cos B = ——, and A4 is in the 2™ quadrant, and B is in the 3" quadrant, find sin(4+ B).  SCORE: __/4 POINTS

SHOW YOUR WORK. SIMPLIFY YOUR ANSWER.
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If cos@ ==, and sinf@ <0, find tan 26 . SHOW YOUR WORK. SIMPLIFY YOUR ANSWER. SCORE: ___ /4 POINTS
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SCORE: __/4 POINTS
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If cos2@ = —.and 90° <@ < 180°, find secd . SHOW YOUR WORK. SIMPLIFY YOUR ANSWER.
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